
Задачи по курсу
Случаные процессы

Выполнил студент 419 группы Третьяков Леонид

Задача
Доказать равенство:

n∑

k=1

ukxtk =
n−1∑

k=0

n∑

r=k+1

ur[xtk+1
− xtk ]

Решение:
Перенесём правую часть влево и докажем равенство

n∑

k=1

ukxtk −
n−1∑

k=0

n∑

r=k+1

ur[xtk+1
− xtk ] = 0

∑n
k=1 ukxtk −

∑n−1
k=0

∑n
r=k+1 ur[xtk+1

− xtk ] =
=

∑n
k=1 ukxtk −

∑n−1
k=0(uk+1 + ... + un)[xtk+1

− xtk ] =
=

∑n
k=1 ukxtk − ((u1 + ... + un)[xt1 − xt0 ]+

+ (u2 + ... + un)[xt2 − xt1 ] + ... + (un−1 + un)[xtn−1 − xtn−2 ] + un[xtn − xtn−1 ]) =
=

∑n
k=1 ukxtk − (−xt0(u1 + ... + un) + xt1(u1 + ... + un)−

− xt1(u2 + ... + un) + xt2(u2 + ... + un)− ...− xtn−2(un−1 + un)+
+ xtn−1(un−1 + un)− xtn−1un + xtnun) =
=

∑n
k=1 ukxtk − (−xt0(u1 + ... + un) + xt1u1 + ... + xtnun) =

=
∑n

k=1 ukxtk −
∑n

k=1 ukxtk + xt0(u1 + ... + un) =
= xt0(u1 + ... + un) = 0

так как xt0 = 0
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Задача
:
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